Vehicles Washed per Day

You may change the parameters in any of the BLUE boxes

All other box results will change automatically

Ambulance Companies
Using Own Labor

Number of	Estimated	Man Hours	Hourly	Total Daily
Employees	Wash Time of	per Day	Labor Rate	Labor Cost
Washing	ea. Employee	Washing	for each	Washing
Vehicles	in Minutes	Vehicles	Employee	Vehicles
2	15	10	\$ 18.00	\$ 180.00
L	13	10	φ 10.00	φ 100.00

Ambulance Companies
Using the
HERCULES SYSTEM

Number of	Actual	Man Hours	Man Hours	Total Daily
Employees	Labor Time	per Day	per Day	Labor Cost
Washing with	Used with	Using	Saved with	Using
HERCULES	HERCULES	HERCULES	HERCULES	HERCULES
2	10	3	7	\$ 54.00

Labor	Labor	Labor	Savings	
Savings	Savings	Savings	over 5 Yr.	
Per Day witl	Per Month with	Per Year with	Lease/	
HERCULES	HERCULES	HERCULES	Purchase	
<b>6</b> 400 4	o	f 45 200 00	¢ 000 000 00	
\$ 126.0	0 \$ 3,780.00	\$ 45,360.00	\$ 226,800.00	

Vehicles Washed per Day You may change the parameters in any of the BLUE boxes

All other box results will change automatically

Ambulance Companies
Using Own Labor

	Number of	Estimated	Man Hours	Hourly	Total Daily
	<b>Employees</b>	Wash Time of	per Day	Labor Rate	Labor Cost
	Washing	ea. Employee	Washing	for each	Washing
ı	Vehicles	in Minutes	Vehicles	Employee	Vehicles
ĺ	2	15	15	\$ 18.00	\$ 270.00
	Z	15	15	\$ 10.00	\$ 270.00

Ambulance Companies
Using the
HERCULES SYSTEM

Number of	Actual	Man Hours	Man Hours	Total Daily
Employees	Labor Time	per Day	per Day	Labor Cost
Washing with	Used with	Using	Saved with	Using
HERCULES	HERCULES	HERCULES	HERCULES	HERCULES
2	10	5	10	\$ 90.00

Labor	Labor	Labor	Savings
Savings	Savings	Savings	over 5 Yr.
Per Day with	Per Month with	Per Year with	Lease/
HERCULES	HERCULES	HERCULES	Purchase
\$ 180.00	\$ 4,680.00	\$ 56,160.00	\$ 280,800.00

Vehicles Washed per Day You may change the parameters in any of the BLUE boxes

All other box results will change automatically

Ambulance Companies
Using Own Labor

Number of	Estimated	Man Hours	Hourly	Total Daily
Employees	Wash Time of	per Day	Labor Rate	Labor Cost
Washing	ea. Employee	Washing	for each	Washing
Vehicles	in Minutes	Vehicles	Employee	Vehicles
2	15	20	\$ 18.00	\$ 360.00
_	10	20	Ψ 10.00	Ψ 000.00

Ambulance Companies
Using the
HERCULES SYSTEM

Number of	Actual	Man Hours	Man Hours	Total Daily
Employees	Labor Time	per Day	per Day	Labor Cost
Washing with	Used with	Using	Saved with	Using
HERCULES	HERCULES	HERCULES	HERCULES	HERCULES
2	10	7	13	\$ 126.00

Labor		Labor	Labor	Savings
Savings		Savings	Savings	over 5 Yr.
Р	er Day with	Per Month with	Per Year with	Lease/
H	HERCULES	HERCULES	HERCULES	Purchase
\$	234.00	\$ 7,020.00	\$ 84,240.00	\$ 421,200.00

Vehicles Washed per Day You may change the parameters in any of the BLUE boxes

All other box results will change automatically

<b>Ambulance Companies</b>	,
<b>Using Own Labor</b>	

Number of	Estimated	Man Hours	Hourly	<b>Total Daily</b>
Employees	Wash Time of	per Day	Labor Rate	<b>Labor Cost</b>
Washing	ea. Employee	Washing	for each	Washing
Vehicles	in Minutes	Vehicles	Employee	Vehicles
2	15	25	\$ 18.00	\$ 450.00

Ambulance Companies
Using the
HERCULES SYSTEM

Number of	Actual	Man Hours	Man Hours	Total Daily
Employees	Labor Time	per Day	per Day	Labor Cost
Washing with	Used with	Using	Saved with	Using
HERCULES	HERCULES	HERCULES	HERCULES	HERCULES
2	10	8	17	\$ 144.00

Labor		Labor	Labor	Savings	
Savings		Savings	Savings	over 5 Yr.	
Per Day with		Per Month with	Per Year with	Lease/	
HERCULES		HERCULES	HERCULES	Purchase	
\$	306.00	\$ 9,180.00	\$ 110,160.00	\$ 550,800.00	

Vehicles Washed per Day You may change the parameters in any of the BLUE boxes

All other box results will change automatically

Ambulance Companies
Using Own Labor

Number of Estimated		Man Hours Hourly		Total Daily	
Employees	Wash Time of	per Day	Labor Rate	Labor Cost	
Washing	ea. Employee	Washing	for each	Washing	
Vehicles	in Minutes	Vehicles	Employee	Vehicles	
2	15	50	\$ 18.00	\$ 900.00	
Vehicles	• •			Vehicle	

Ambulance Companies
Using the
HERCULES SYSTEM

ı						
	Number of	Actual	Man Hours	Man Hours	Total Daily	
	<b>Employees</b>	Labor Time	per Day	per Day	Labor Cost	
	Washing with	Used with	Using	Saved with	Using	
	HERCULES	HERCULES	HERCULES	HERCULES	HERCULES	
	2	10	17	33	\$ 306.00	

Labor		Labor		Labor	Savings	
Savings		Savings		Savings	over 5 Yr.	
Per Day with		Per Month with		Per Year with	Lease/	
HERCULES		Н	<b>ERCULES</b>	HERCULES		Purchase
\$	594.00	\$	17,820.00	\$ 213,840.00	\$	1,069,200.00